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MNote: 1. Answer any FIVE full quesfions,
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2, Mbsing dofa moy be suifabiy assumedl,

With neat diograms explain the fallowing w.r.t hydsl power plant
il Penstock I Surge tank
i Water jot mechanism v Tall roce.
(B Marks)
With a neat skefch explain the function of o govemeor used fo control the speed
of g hydraulic turbine., (6 Marks)
With o neat sketch explain the function of pumped storage plant. Discuss how
such a plant will mest the paak load requirement. % Marks)
With neat sketches explain the function of any fwo fypes of coal handing system,
(B Marks)
With a neat sketch axplain the condenser usad in the thermal power plant, Discuss
on alactrostatic precipitator.” {6 Marks)

With: a neat sketch explain any one method of agh handling system. (6 Marks)

With a neat schematic diagram explain the funclioning of pressurized woter raactor,
Also indicate diogrammatically the pressurized water reactar with water os coolant
and moderator. (8 Marks)

With < schematic diagramn explaln fhe LMFBR, Diffsrentiote betwean fast breeder
reactor and themnal reactor, {6 Marks)

Discuss on the following :

iy Harmful effects of nuclear reactor

iy Disposal of nucleor wastes. : (5 Marks)
Explan the atemator excitation systern showing the generator confrol loops and
the funclional diogram of excitalion system. (& Maorks)
With a neaf diagram explain a simpls gas turbine. Discuss the advantages of the
same ovar sfeam powsr plant. (8 Marks)
Highliggyt main fegtures of the combinad-cycle power plants. {4 Marks)
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9. (o) Define the following with llustration -
i} [Demand factor
iy Plart use foctor

e - -

B  Plont copacity factor, & Morks)

= g

{0} The load s KW on o substation s az follows

Tirme Load In kW Time Load in kW [
12,0 AM fo 1 AM 1200 12 PM to & PM 1100
1AM to 3 AM 1000 4 P to & PM T800
3 AM fer 5§ AM 900 5 PM to 10 PM 1000 I'
5 AM to 7 AM 1400 10 PM to 12 AM 600 i
7 AM to @AM 1000
% AM fo 12 P 800

Azzame the cornected lood fo be 5200 KW
- Draw the load curve and load duration curve.

Cetermine .
D Meximum demand
Iy, Demand facter J
iy Load factor. (10 Marks)
(&) Diszuzs the bose load and peak load power plants, {4 Marks) I ‘
8. (@ What do you undersiand by electrical tariff? Discuss on two part tariff, three part i
taniff and power factor tarlff., (8 Marks) :
(b} wWhat are the causes of low power factor? Explain the methods of improving power | ]
- factor. : {4 Marks)
(c) Load factor of a consumer 15 35% and monthly consumption E 804 KWhr. If the rate l
- of electricity & ks 180.per KW of maximurm demand plus Rs.2.00 per KWhr, find
1 the monthly bil and average cost per KWhr. ‘
B The overall cost per KWhr If the consumption s increcsed by 20% with same LF

iy Overcll cost per KWhr if consumption remains same but LF s increased o 40%
(8 Marks)

7. ten It is desired to improve the power factor from cos @l to cos 92 keaplng the KW of ‘

the systemn af a constant value of PEW, Derlve an expression for the raling of the
capacior, {8 Marks) .

() Discuss the Importance of grounding system in elechical systems. With neat sketches

. Epiain
= i} Resistance grounding
Iy Reactonce grounding. | (8 Marks)
e} With o neat sketch exphain an ungrounded system. (4 Marks)
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B. (@ With reat skatches expiain the folowing :
1 Einghe busbor system with bus sectionalizar,
N Dowsle busbor system with single breakes, 4 Marks)
fy Discuss ontne follkwing ¢
) Location of substation Iy Substation acuipments {6 Marks}

te} Fg.l shows o three-phase fronsmisstion e aperating ot 33 &Y and hening a
resistonce and reactance of 50k and 200 respeclively connectad to the genearating
station Bustar through o 5000 kA step up transfararn which hos o reoctorce of
G Conmeciod fo tha busbars ans two attematans e 100,000 KWVA, 10% reactanca
and anctites S000 KA, 7.5% reoctonce. Cocubate ha KVA of g short circutt fault
betwisan phaies aocuring

i} ot the HY temingis of tha ransfammars,
I of load end of transmissian e, {8 M)
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